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Direction:

1

e Question No.1
Options:

1. 3Refd

2. 5Ttafd
R GEEICIGY
4. §THTST(HB
5. Hieafcs

Answer : J5TA1dldb

Direction:

ST 1T HI(BC Bl LFMYAD IS dqURIETd IS ITE GRRAT BT 3qa XM B

TP Y- T ....(1) SPI3 & STel AT 3R AR ThHYU Bd 81 T8 "3 bt goil 7 31efds Al 3Tae/RuT 8, Baldf Bt
21 I Tcp YXHA ST 1Y HHE b TR T&! €1 I ATLURUI JY B R[A HC B dfbrd D I ....(2) gt € BiAg a7g
THI R P! 3quddf R URR[E dfed &1 38 & Td T 927 ....(3) dfdie I8 & Bf Ugel BIF 1AT? ISR AT 51T, | ATHIY 3RY
H, TP AVR-IM51T PA T §3T, 5T T4 H ...(4) G20 AT RS YR &l

deR, 3af2 g3, Wibiclc 3R FRH i A afGar A 57 WRIBGUAT Bl 37T ISIIT 8 Bf AR A5 dfd TGRTS AT
BT 37571Td SARYR TR A 3qu Tel g31T, 7 €1 g Teb AIdIP ....(5) T, UG T8 ATl RATIaHT, Ysitare,
TATIRIdsT, I5TTdl HITet 3R Wil # 156t 2rdTelat Pt siicefds @15l &l T 35T 3UIqUTS &l

e Question No. 2
Options:

1. RyTafd

2. RIGHTA
3. 3qu A

4. quyc
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5. TRaiafa
Answer : 3qUdd

Direction:

ST 1T HT(BC Bl LFYAD US dqURIETd I8 TTC RRAT BT 3qd R |

TP AR5 TP ....(1) SPIE & 518l A5 R AR THYT Bd 81 T8 "SR Bt gl | 31ufds Al 3Tae/RUN &, BTl Bt
C2I Pl TP YA ST HHE i ATARIDBAT Tl &1 T8 IAERUN T & AM HET B afbrd & F1Y ....(2) gl & Big aHd
THY R 3AP! 3quadl IR GRE Afe oTd I8 & Td UH 937 ....(3) afdTe IE & Bf Ugaet i 37TAT? I8 AT A5, | AT 3RY
H, TP AYR-51T P Teb §I3T, I5THId D I H ...(4) G2A IT YRS BYR &l

deR, 2af gSaiE, Bibiclc R SHT el S afGarl 3 57 WibeuAT Bl 37T G 8 i AN AT dld TGRTs AT
BT 3757311 IARYRIA TR A 3qu T&l g31T, 7 €1 I8 Teb ATIdIB ....(5) T, 370l T€ ITHIdld IRATITHT, Ysitare,
TATIRIdsT, J5TTdlc HITeT 3R WTel | 1560t 2dTelcl Pt sileefds @15l bl T 31T 3UIdUIG &l

e Question No. 3
Options:

1. dcuiafe
2. LR
3. vaferfd
4. A5TIA(D
5. GRRMAfHB

Answer : dcuidafd

Direction:

&ft 7T 37eBe B YYD U¢ dauRETd I8 7TC R BT 3dak [ReH a|

U AT U ....(1) SBIS & 581 573 3R AR ThYU B1d &1 T8 “GR0" bt gotl H 37e/{ds Al 3TeTE/RUT &, BTl it
221 B b UXH ST HHE bl TR A8l 81 I ATLUROT JAU B RA HT B afbrd B A1 ....(2) gt & BfAg a7
THY R S8BT 3quddl U [RE A ¢'Td 38 8 Ud U 93] ....(3) dafdTe IE & Bf gl b 37TT? I8R AT 57, | AT 3RY
H, TP AR5 P T §I3T, 5T D T H ...(4) G20 AT RRATHATD YR 2l
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deR, 39S 3, BIdbIoc 3R SHT Seidd 51 AfGaml 7 58 WIBEUAT B 3171 FEHRIT 8 Bi AN 5T d b TGRTS AT
BT A1 FARURIT TR & 3qUT TET g31T, 7 &l I8 UH AP ....(5) T, 37Ul TE AsTHIdidd IRATTGHAT, YoildTe,
TATARIBT, ATl Yol 3R et # 154t 2rdTeel ot diqefds @it BT T 3H5THT 3uTqure 2l

e Question No. 4
Options:

1. TTRewft
2. 99y

3. qiFeRdls
4. g3t

5. ThaRfd

Answer : HIY

Direction:

ST T HI(B Bl LFYRAD IS dqURIETd I8 T8 RRAT BT 3da R B

TP AR5 T ....(1) SPIE & 518l A5 3R AR ThYU Bd 81 T8 "3 i goil 7 31eifds Al 3Tae/RUT &, BTl Bt
21 I Tcp UXHA ST 1Y HHE bl TRl Tl €1 I TR G B [ HC B dfbrd D I ....(2) gt € BiAg a7
THI R SHPI 3quddf R URR[A Afed &ITd 38 & Td U 927 ....(3) dfdie I8 & Bf Ugel BIF 3772 ISR AT 51, | ATHIAY 3RY
H, TP AYR-51T PAd T §I3T, 5T 1D 34 H ...(4) G2A AT RRAHATD YR &l

deR, 3afS g3, WBibiclc 3R FRH eid 4 afGar A 57 WRIGUAT Pl 37T ISR 8 Bf AR AT dfd TGRTS AT
BT A1 FARURIT TR A 3quA TEt g3, 7 &1 I8 Uh I ...(5) 2, 37ufg TE A5t tafd IRATITHAT, Ysitdre,
TATIRIdBT, 5Tl HITeT 3R Wil H 15t 2IdTelcl Pt siicefds @15l Bl T 35THT 3UIqUIG &l

e Question No. 5
Options:

1. 39crqef
2. I

3. JMAHR
4.3d
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5. Jetdf

Answer : 3TdY®BR

e Question No. 6
AfFACTRafd # @ P11 B2 HINT B ATER W A[AT Td HI A5 PIR P IR H Tl T8t & ?
Options:

1. BRI 5T 4 ' PR | ATdT |

2. 3ddRRES * W@ Y | ATAT 8

3. GAA 37R ¢1d T &TeRT 3R TR gdeit §9 51T BYR A * a7 H 377d 8
4. dHfeTATg 7T ‘YR A 3ATdT 21

5. GR[EATH SIS I ‘B # 3MTdT 8

Answer : 3qaRAS * W ' BYCR | 3TdT 2|

e Question No.7

IIUTA Bihpt Headf J BT I B AHBIY RASAT B 0 YA B aTeit it 371 HTST BT RIPT RTefdd & ddbdl
g?

Options:

1. TG bt EAdf qarT

2. fETHS A P TeHAT Bl I HeHdl qaRT

3. YeRudf Pt Ra HeHd! GarT

4. JTTHTST afHTT Bt TERdl qaRT

5. 3Td AATITCTT B HRad ATATER bt gerdf qarT

Answer : ISCUAl bl I3 HEAAT GaRT

e Question No. 8

T BT 3B 346 BAD IR A ?
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Options:

1. BT AT BT STAIAAT D BT HPT GaRT Siett ST aTett HINT B Tae 7
2. Bt 15 3R T B g gaRIel Bt A5HET-B IR A’

3. I5THTST 3T B 757 & IR

4. IT5THTST FATCT B 767 & IR |

5. 3HATAG | TRIVT B 5T dTeft HTST B IR #

Answer : BT 574 3R TG & &t gazral bt A5THST-B IR &

e Question No.9
ISTHTST AT @ 31efT TTthedaR dogel § RANT E1F dTeft B B It HIHTE & ?
Options:

1. Bl 3R Ut 3 WRet yreTe
2. Bfct 3R 3t

3. 3ot et & ARAR HITS

4. 3T 3R 14 31T MR e
5. 22 3R TETOT Ry HraT

Answer : Bfct 3R 3773

e Question No.10

gfct amrafd da@maf & Tt adat @t sfqaadf BT AT §9 9 I8 B 3 ase A Rufd 8 ?
Options:

1. 317<[B¢ 345
2. 3798¢ 350
3. 31984 351
4. ATTBE 343
5. 3798¢ 210

Answer : 3798¢ 351



e Question No. 1
AfFAcTRafd 2reet # @ guefdrur &1 R & ?
Options:

1. appeasement
2. Appropriate
3. Approval

4. appendix
5. 577 & BIg &t

Answer : appeasement

e Question No.12
AfFAARafd 2I€Et 7 & Promoter 1 IRAR T&l & ?
Options:

1. AP
2. ARAB

3. 31qUrd
4. GIEB

5. YR IdPH

Answer : 31 UTd

e Question No.13
AfFAeTRafd 2reei # & SENSIBLE BT WRATT & ?
Options:

1. gHSIGR
2. Gdeefta

3. PRIETDBIT

ixam
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4. guR
5. 3{a’uT

Answer : GHSIGRR

e Question No. 14
AfAeRafd Ee # 4 ATed BTRIATE ?
Options:

1. Device
2. dislocate
3. dismiss
4. disorder

5. Harmonious

Answer : Device

e Question No.15
AfAeTRafd el # & Refined BT RATT & ?
Options:

1. guR
2. 5TeTa

3. RiY[eE

4. JURTdA®
5. 3AATd

Answer : TRIR[GEl

e Question No. 16

AffA@Rafd 2r€ct # & potential &1 RATI Tt & ?

ixam
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Options:

1. THTafa
2. afva

3. PRIARTH
4, BT

5. ar

Answer : §ddT

e Question No. 17
AfFACTRafd 2reet # A RIqaTEd BRI & ?
Options:

1. Promoter
2. quarterage
3.release

4. incidental

5.incite

Answer : Promoter

e Question No. 18
AfAeTRafd el # & 3afYbR &1 RIAT € ?
Options:

1. Invention
2. Heading
3. discovery
4. appeal

5. depot

Answer : Invention

ixam
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e Question No.19
AfAaRafa et # & MANNER & IRIT & 8 ?
Options:

1.3

2. 3taf”

3. adtaT

4. gHayoT
5. IfSe™R

Answer : TRIBYUT

e Question No. 20
AfAeTRafd /et # A gaR BTRA™T & ?
Options:

1. gate

2. margin

3. holdout

4. marked

5. 5TH A BIS T&

Answer : gate

e Question No. 21
272?272727 22272 22727 22 22222727 222 227272 22777-
STTH THAT I B A D T W THAM G 3R FHTST H 3709 qehal’Td Herd 3R AT B HIGHAT BT Teb 3UTY 2|

Options:

1. Self-awareness is a measure of the regard for oneself as human being and sense of one's personal value

and place within the society.
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2. Self-esteem is a major of the regard for oneself as human being and sense of one's personal worth and
place within the society.

3. Self-esteem is a measure of the regard for oneself as human being and sense of one's personal worth and
place within the society.

4. Self-esteem is a measure of the regard for oneself as human being and sense of one personal worth and
place within the society.

5. Self-awareness is a medium of the regard for oneself as human being and sense of one's personal value

and place within the society.

Answer : Self-esteem is a measure of the regard for oneself as human being and sense of one&#039;s personal

worth and place within the society.

Question No. 22

P07 7777 2?7?77 7 27?7777 277 7?2?7777 ?7777-

YR [Ted A0 & TMeTHt § 85TRY ¢ 3151 AT 7 814 b BRUT 68 TTE|
Options:

1. Thousands of tonnes of grains rot on the godowns of the Indian Food Corporation due to non-shedding
2. Thousands of tonnes of grains rot in the godowns of the Food Corporation of India due to shedding

3. Thousand of tonnes of grains rot in the godowns of the Food Corporation of India due to non-shedding
4. Thousands of tonnes of grains rot in the godowns of the Food Corporation of India due to non-shedding

5. Thousands of tonnes of grains rot in the mills of the Food Corporation of India due to non-shedding
Answer : Thousands of tonnes of grains rot in the godowns of the Food Corporation of India due to non-shedding

Question No. 23

P77 P7777 2?77 7 2?7?7777 27?27?7777 ?72777-

TIGTHT BT ABIDBIUT T8l & SHAT afdsdid SR T 3UBNT HRd & HSRUT I8 ATHAHRRI &l
Options:

1. There is no standardization of warehouses so India's storage facilities are low compared to developed

countries..
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2. There is no standardization of warehouses then India's storage facilities are low compared to developed
countries..

3. There is no standardization of warehouses so India storage facilities are low compared to developed
countries..

4. There is no standardization of warehouses for India's storage facilities are low compared to developing
countries.

5. There is no standardization in warehouses so India's collection facilities are less compared to developed

countries.

Answer : There is no standardization of warehouses so India&#039;s storage facilities are low compared to

developed countries..

e Question No. 24

P07 7777 2?7?77 7 27?7777 277 7?2?7777 ?7777-

TEBRT TS U1 GRHTCT HATdsT AHTT 7 FhTH T8l &1
Options:

1. Cooperative organization are not able to play their effective role.

2. Cooperative organizations is not able to play their effective role.

3. Cooperative organizations are not able to play tthere effective role.
4. Cooperative organizations are not able to play their effective role.

5. Cooperative organizations are not able to play their inactive role.
Answer : Cooperative organizations are not able to play their effective role.

e Question No. 25
2722222727 22272 22727 22 22222727 222 227272 22777-
YRA B STEGAT BT HIH HEAAIYIUT ABYUT 3Hb! BRIR SHEEAT BT AR &l

Options:

1. The most important feature of India's population is the size of its adolescent population .

2. Most important feature of India's population is the size of its adolescent population .
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3. The most important feature of India's population are the size of its adolescent population .
4. The most important feature of India's population is the size of its adult population

5. The most important feature of India's population is the size of her adolescent population.

Answer : The most important feature of India&#039;s population is the size of its adolescent population .

e Question No. 26

PP??0??777?7 7?7?77 P77 7 27?7777 277 777777 ?7777-

2IfBNT & AR a1 SHA FER GaRT 37 A3 B Rdf STPRBAT F&TS 511 Hebdl 2
Options:

1. By spreading and improving education, Awareness of this problem can be increased .

2. By spreading and proving education, Awareness of these problems can be increased .

3. By spreading and improving education, Awareness of these problems could be increased .
4. By spreading and improving education, Awareness of these problems can be increased .

5. By improving education, Awareness of these problems can be increased .

Answer : By spreading and improving education, Awareness of these problems can be increased .

e Question No. 27

PP 27?777 2?77 7 27?7777 277? 777777 ?7777-

BT B BT 7 3! THATIT & RATId YT & &1 T
Options:

1. Their problems were not given enough attention in the process of development.
2. Their problems is not given enough attention in the process of development.

3. Their problem were not given enough attention in the process of development.
4. Their problems are given enough attention in the process of development.

5. Their problems were not given enough attention in the development.

Answer : Their problems were not given enough attention in the process of development.

0(6



e Question No. 28

PP 7777 2?77 ?? 27?7777 ?7? 2?7?7777 ??7777-

Options:

1. Production and distribution of goods and service is ensured by the private sector.
2. Production and attribution of goods and services is ensured by the private sector.
3. Production and distribution of good and services is ensured by the private sector

4. Production and distribution of goods and services are ensured by the private sector

5. Production and distribution of goods and services is ensured on the private sector
Answer : Production and distribution of goods and services are ensured by the private sector

e Question No. 29

P07 P77 27277 7 27?7777 277 277777 772777-

Y AAT 319 BAARTAT BT FaAradddr 3R ITTTqHED Jaddidl o H af[dr Bd &l
Options:

1. These leaders believes in giving their employees autonomy and creative freedom.
2. These leaders believe in giving their employee autonomy and creative freedom.
3. These leaders believe in giving their employees autonomy and creative freedom.
4. leader believes in giving their employees autonomy and creative freedom.

5. These leaders believe in give their employees autonomy and creative freedom.
Answer : These leaders believe in giving their employees autonomy and creative freedom.

e Question No. 30

PPV 00000 20000 00 00000000 00?0 00000 20077-

UTS N5 ATBHUT BRA B 3G BT AbeTdgIdd RIUd B BT Ted 2

Options:

ixam
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1. The lesson plan is a mean of achieving the objective of teaching work successful .

2. The lesson plan is a means of achieving the objective of teaching work successfully .
3. The lesson plan is an means of achieving the objective of teaching work successfully .
4. The lesson plan is a means of achieve the objective of teaching work successfully .

5. The lesson is a means of achieving the objective of teaching work successfully .

Answer : The lesson plan is a means of achieving the objective of teaching work successfully .

Question No. 31

P07 P77 P77 27 2?77 27?7 P77 777777 77777

The storage system of the State Level Warehousing Corporations is very worrying .
Options:

1. T5TA AT HERUT # AT &bl T Siadd didisid gl

2. YR A HEROT AfTHT Bt HERUT T 3add didlsid gl
3, 5T AT HEROT AMTHT bt HERUT TAGHAT 3qdd afdIsid gl
4. 315 HAZIg HSROT ANTHT Pt HERUT Held Aqdd TfdisHdb 2l

5. 157 A HSROT ATHT dbt HSRUT e 37qdd afdisidb giit |

Answer : I3 HAT HERUT ATTAT Bt HERUT qIaHT 31qdd DT 2l

Question No. 32

P07 P77 P77 77 777?277 P77 777777 7?7777

The products have been spoiled due to non-development of means of transport at the local level .

Options:

1. TS B ATLAT BT AT FR W afdbrd 7 81 P BRUT 3qUTG TRTe 81 T 2
2. TS & HTEHT &1 TRTHTOT HR R IfhId 7 817 & BRUT 3qUTE W19 8 71T &l
3. oIS  HATEAT BT IS HR W Ifbrd 7 81 P BRI 3T TRTe 81 571d &l
4. ZATE P HTEAT BT HATHT T IR afbd 814 & BRUT 3qUTE WRId 81 I &l
5. GoATS B HTEA BT AT R R IfBr 7 81 B BRUT 3qUTS TR &1 7T &

Answer : ATS B ATLAT BT HATI HR W afdTd 7 81 P PBRUT 3qUTE TRTe 81 T 2

0(6



e Question No. 33

P77 2?77?7777 777 ?7? P77 277 P77 777777 7?7777

The youth of India are the most important human resources of the future.

Options:

1. HRA & 1 HafSg @ Fed HedddqRoT AIFd HTEMA 21
2. HRd & AI5a Ha S & FIH HEqqayoT HId JHTEH g
3. HRd & A5Ta HafS I B FId HEdqayior S4TEM &l

4. Ta HATST B F& HEAAAYROT AT HHTEA €|

5. HRd P AN5TaH HAST B HEd(dYI0T HIAd THTEA &l

Answer : HRd & A15TdT W& & He AEqQayRUl HIFd HHTEM

Question No. 34

PP P2772777? P77 77 P77 27?7 P77 2?7777 77777

Adolescent girls should become sensitive to their problems.
Options:

1. BRIR STATBIHT B 30T FAEATHT B Hdl HdaaRiter ST <meld|
2. BRI ATAfB13T BT 30T FHEFATHT B GRaf HagARited ST g |
3. BRIR FTAfBI3T B 379 THFAT B Raf daeaitel g1 arefd|
4. IIHD JTTDBIAT Bbf 39T TRIATT B TRaf ddeRiid g1 Al
5. BT STAfdb13 Bl 370t FHIATHT & Raf HaeAftel g1 arefd|

Answer : BRIR STefdb137 BT 30T THHATT P R GdeT=ite 51 Tmefd

Question No. 35

PPV 00000 00000 00000000 0000000700707

Malnutrition can lead to poor health and stunted growth.

Options:

ixam
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1. BT & FARII TRTd qAT dfbr SaRrefd &) gdbar el
2. BUIYUT A AT WRTG a7 afbR seRiafd 8 Jabo |
3. BUIYUT I FATHY W aAT afdsr 3raRefd 8 Fabar 2 |
4. QYT J HATHY FRTe d2dT I el 8 gebdr 2l

5. BUIYUT § FaH TR1E 2T i 37eRTeifd & debdT 2l

Answer : BUTYUT I HATHF TR a7 i SaRufd &1 debal 2l

Question No. 36

P07 P77 P77 27 2?77 27?7 P77 777777 77777

We should keep in mind that our decisions and actions affect others
Options:

1. 8/ I8 YIM RaA1 TSI Bbf gAR TRUTY Td BRY EI Pl [RHTAd B &l

2. BH I8 YI™ &A1 I18fd Bf gAR TRURI Td BRY §H Bl YRHTATd Bid &

3. B € YT RaAT ATl Bl gHR TRUM T BRI GERT DI RHTATd Pd &l

4. TR IE YT R Aefd Bf gHRT qibhdfdd Td BRI ERI Bl RHTAId Bid 2|
5. EH YT R Bl gHR TRURI U BRI GERT Dl RHTATd Hd &l

Answer : B/ I€ YIH RaAT AT Bl gHR TRURI T BRI GERT Pl RHTATd Pd &l

Question No. 37
VPPV MINMVN NV I 2IN00?0?
India has adopted a path of economic reforms to strengthen and integrate its economy with the global economy

Options:

1. HRd 7 U 3RATITHAT BT AR[afdd IRATIIHAT A 57134 P AfC 3R 38 & T & P 3RUfb JeRT &1 AT

UATT B
2. MR A 30T 3RATITHAT B! AR(dfch IRATITHAT I 5118 &b T 3R 38 FG& I D ofe 3iR2fds ERT b1 IHaT
3T 2T |

3. HRd 7 39T 3RAGITHAT BT dR[dh 3RAGITHAT & AIST B AT 3R 38 g I P AU 37R2id FErRT BT IHdT

YA 21
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4. VIRA A 3701 3RUTITHT DI AR(Afcb TITHAT A S5 P AT 3R 38 g& 1 B T10 7R FLRT BT I
AT &l
5. HRd 7 370 3RAITHAT B! AR(dfdb 3RATITHAT I 51187 &b AP 3R 38 G IM B AfC 31R2fd I-AT 3977 21

Answer : HRd 7 31Ut 3RATITHAT BT AR[afd IRATITHAT A 5154 P AT 3R 38 & T & P 3RUfb FLRT BT I-dT

YT 81

Question No. 38

P07 P27?777?777? 7?7 2?0 27777 7?7?07 2?7?77 7?7777

The biosphere works as a system.
Options:

1. AIHSE T g B U W BRI Bl 2l

2. SIIHSE U daR P 3 H PRI IR Hhdl &l
3. HUCTHS el U ddX B I A BRI Bl &l
4. SITHYT T daR B I A BRY B 2|

5. SIgHS A U HaR b {0 W BRI BdT 8l

Answer : THSH Th g B U H BRI BT 2l

Question No. 39

P07 P77 77?77 ?7? 77?77 27?7?77 777777 7?7777

National income is calculated on an annual basis.
Options:

1. IS TUAT IRYfds TR W 8t &l

2. A 31T b 0T RN 3R R Epft
3. 57T BT 3T Pt IUAT IRYfb TR W Eld! 2l
4. 9T 37T bt TUHAT IRY(P TER W &t 81
5. IS 3T Bt ITUMET AR 3R W Eld! 2|

Answer : IS 3T Bt VAT aRYfb TER W gt 2l
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e Question No. 40

P77 2?77?7777 777 ?7? P77 277 P77 777777 7?7777

IE HRATI 3RAGITHAT bl Irddcp et e & FHITHId &l
Options:

1. It is related to the real growth rate of the Indian economy

2. It was related to the real growth rate of the Indian economy .
3. It has related to the real growth rate of the Indian economy .
4. It is related to the growth rate of the Indian economy .

5. It is related to the real growth rate in Indian economy .
Answer : It is related to the real growth rate of the Indian economy

Direction:
DDDIDD 1 DD DD IVDVVVDD DD DPDDVVIDIVVD PV DPVIDIVDD DDV DD DDV DD 29977 D977 979

The move of the current government regarding disinvestment has been criticized by many economists and
politicians. They warned the government about the bad impact of disinvestment on the Indian economy. They also
suggested some precautionsthat have to be taken immediately to save the Indian economy. But the gover nment
has completed its disinvestment in various sectors, but the government hashands-off from the critics and

continued its strategy.

e Question No. 41
St T B¢ & ATAR “ The move’ BT EMFGT 3dTE BT BT ?
Options:

1.1
2. ®GH
3.77af
4. 95IR
5. TP

Answer : bGH
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Direction:
DDIDIDD 1 DD DD DPVIDIDD DD DIV IDVDVD DDV DIDIDVDDD DDV DD DDIDVDD DD DD DIV DD

Themove of the current government regarding disinvestment has been criticized by many economists and
politicians. They warned the government about the bad impact of disinvestment on the Indian economy. They also
suggested some precautionsthat have to be taken immediately to save the Indian economy. But thegover nment
has completed its disinvestment in various sectors, but the government hashands-off from the critics and

continued its strategy.

Question No. 42
gft 71T 3{<Be & ATIR “ Disinvestment” T Efd! 3JdTe BT BT ?
Options:

1. IRaffaRr

2. affaRr

3. AfftepRoT

4. FEATTA affaRr
5. JRUT 3G RIS

Answer : dfAfder

Direction:
DDIDIDD < DD DD DWPVIDIDD DD DIV IDVDVD DDV DIDIDVDDD DDV DD DPVIDVDD DD DD DIV DI

The move of the current government regarding disinvestment has been criticized by many economists and
politicians. They warned the government about the bad impact of disinvestment on the Indian economy. They also
suggested some precautionsthat have to be taken immediately to save the Indian economy. But thegover nment
has completed its disinvestment in various sectors, but the government hashands-off from the critics and

continued its strategy.

Question No. 43
Sft 71T 3{<Be B AR “ precautions’ BT MG 3dTg BT ST ?

Options:
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1. ArauHfT

2. IPHTAHP 34T

3. oToRaTe

4. G&dTQRad AfdeT Bl

5. T

Answer : JITLARIT

Direction:
DVDVDVD 1 DI DD DPVDIDVD DD PIDVDIDIDDD WD DIDVDVDVID DDV DD DIDIDVIVD DD DIV WDV WD

The move of the current government regarding disinvestment has been criticized by many economists and
politicians. They warned the government about the bad impact of disinvestment on the Indian economy. They also
suggested some precautionsthat have to be taken immediately to save the Indian economy. But thegover nment
has completed its disinvestment in various sectors, but the government hashands-off from the critics and

continued its strategy.

Question No. 44
gft 77E 3/EBT & 31AR “ Gover nment has completed ” &7 gfAc 3dTe BT &P ?
Options:

1. TRBR 1 G BT

2. TRPR QI HBIM

3. PR AR AT 2
4. TRBR I A dledt &

5. FRBR T R B AT 21

Answer : TXBR A G B AT
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continued its strategy.

e Question No. 45
Sft 71T e8¢ B JTIR “ hands-off” &1 et 31gare &1 8P ?
Options:

1. HEGPT BT

2. BT AfedT oA

3. TREUT AT

4. YeTeT 318 &A1
5. T gHdPNY B

Answer : UcTell SIS o T
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